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SA BB (S) - NRAY - BAS p/E-T Hl D2
SAYL 140,566 345,483 4,795,083
2 303,000 303,000 0
2 890,000 890,000 0
| 550,000 550,000 0
= 069,810 011,310 58,500
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s44+5 Fl 229,435 646,435 583,000
| 550,000 550,000 0
= 284,500 226,000 58,500
2 394,935 870,435 524,500
BSa+E 24 473,700 085,700 388,000
401 NEHIL 2 THYI 473,700 085,700 388,000
01 Al&t bl 473,700 085,700 388,000
OAFRRLEAE AZNE L 22
A 200,000,0009 200,000 140,000 60,000
O2ARLEANE F4TX RN 22
33 80,000,002 80,000 44,000 36,000
OBE MY ARRETAIL O HE 40,000 0 40,000
OHE B AR+ AE B2EX 110,000 0 110,000
O2Z RE(HET)S4HL 422 &1 120,000 0 120,000
O2Z SH(ANY) ARSETAL S2EA
=X 22,000 0 22,000
LR KA 195,000 0 195,000
= 58,500 0 58,500
2 136,500 0 136,500
401 NEHIL 2 THYI 195,000 0 195,000
= 58,500 0 58,500
2 136,500 0 136,500
01 Al&t bl 195,000 0 195,000
O+Xtezel XA 195,000 0 195,000
< 58,500 0 58,500
2 136,500 0 136,500
SEFHHOIZHE S 150,000 0 150,000
2 @0 ANBNE 2ESY 150,000 0 150,000
207 & R 150,000 0 150,000
NEEEET 150,000 0 150,000
O 492 AN#HE 28 150,000 0 150,000
BE(STAYL) 592,712 1,530,629 4,062,083
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WEHAXS (=T A L) 5,582,712 1,530,629 4,052,083
HEHAH X = 5,582,712 1,530,629 4,052,083
701 JIEt3I HEEES 5,582,712 1,530,629 4,052,083
01 JIEtel N E= 5,582,712 1,530,629 4,052,083
O AHELENH HES 1,542,089 0 1,542,089
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238 4,040,623,000& 4,040,623 1,530,629 2,509,994
BEINES (=S AL) 10,000 0 10,000
gret= 10,000 0 10,000
802 BH& 2 Il &t 10,000 0 10,000
01 =2n2x3eeE= 10,000 0 10,000
O'20d EAIZ2(LEXNDHE=ESSZMEAY) 10,000 0 10,000




